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BREHMEFZHBEMRE
TH26FE4R1BLYTERM27E3H31H
E% J)P% JISY—ORTHIEIZRIBHZRIIMBELLTOEE
—RABEGE, HRABGEERVBEGEEOHALVICEERAA
E = J)Y b }%)‘JH T BISEICE DB L TR EHKER
BEREEADRTR —REEEAN BREERERS
(Bfz:FM)
®B SEE (H26) | BIFERE (H25) | Xt BIFERE (%)
I URA | (1) FEH 3,509 2,625 134
(2) ZDOHUZA 0 0
LHERAEE (A) 3,509 2,625 134
B EAREIRUN X = BE A 42626 A 29,769] wkkiokkiokk
IRA&EET (B) A 39117 A 27 144] sxrnnnnnk
I X | (1) BXE 14,878 15,482 96
AEEZH 9,280 9,539 97
REXBEXL 458 967 47
FEREXH 18 18 100
RILEBEX SN 634 591 107
BIEEHREX L 109 109 100
KENABEZ L 2,392 2,376 101
J—RFZH 385 375 103
HRARZE 1,602 1,507 106
(2) EBE 0 0
(3) ZDihzH 0 0
L H A (C) 14,878 15,482 96
S HAUR 7 A EE (A)—(C) A 11,369 A 12,857 sknnnnnnk
RERFEIIUN X = BE (B)—(C) A 53,995 A 42,626] wwrknkpiok




